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INSTRUCTIONS TO CANDIDATE
This booklet contains 100 Questions in all comprising the following Three parts.

Part-(I) : General Science & General Awareness (45 Questions)
Part-(ll) : Mathematics (25 Questions)
Part-(lll) : General Intelligence and Reasoning (30 Questions)

All the questions are compulsory and carry equal marks.

Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages
and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced imme-
diately.

Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.

You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name,
Roll number, Test name/ld and hame of the examination on the Answer-Sheet carefully before you actually start
attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These
instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be
awarded ‘ZERO’ mark.

Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the
relevant question number by Black/Blue ball pen only.

A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/
different from the information given in the application form, the candidature of such candidate will be treated as
cancelled.

The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may
be deemed fit.

Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy.
Do not spend too much time on any question.

Mobile phones and wireless communication device are completely banned in the examination halls/rooms.
Candidates are advised not to keep mobile phones/any other wireless communication devices with them even
switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair
means in the examination and action will be taken against them including cancellation of their candidature.

No rough work is to be done on the Answer-Sheet.

No candidate can leave the examination hall before completion of the exam.

Maximum Marks : 100
Total Questions : 100
Time Allowed : 90 Min.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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General Science & General Awareness

Mohenjodaro is situated in the district of —

(A) Sindh
(C) Montgomery

(B) Udhampur
(D) None of these

Which component of blood is considered as the guard cell of
our body?

(A) Red blood cells
(C) Platelets

(B) White blood cells
(D) Plasma

Who was known as the Muazzam?
(A) Akbar (B) Babur
(C) Bahadur Shah (D) Shahjahan

Rouff is a popular folk dance of

(A) Haryana (B) Chandigarh(C) Kashmir (D) Guijarat
Who was the first lady ruler of Sultanate Period?

(A) Nurjahan (B) Raziya

(C) Maham Anaga (D) Manbai

What is the unit of Luminous Intensity?
(A) Kelvin (B) Ampere  (C) Candela (D) Watt

Who was the Chairman of the Drafting Committee of the
Constitution?

(A) J. B. Kripalani
(C) J. L. Nehru

(B) Rajendra Prasad
(D) B. R. Ambedkar

The body temperature is regulated by-
(A) Pituitary gland (B) Hypothalamus
(C) Pineal gland (D) Thyroid gland

The UPSC members remain in office:

(A) For a period of five years or until they attain 60 years
whichever is earlier

(B) For a period of four years or attain 65 years of age
whichever is earlier

(C) For a period of six years or till they attain 65 years of age
whichever is earlier

(D) For a period of six years or till they attain 63 years of age
whichever is earlier

Which of the following is issued by the President when the
Parliament is not in session?
(A) Ordinances

(C) Statutes

(B) Rules
(D) Proclamation

Article 32 of constitution is related to —
(A) Fundamental Rights (B) Center State Relations
(C) Fundamental Duties (D) All of the above

Who was honored with the Gates-Cambridge Impact Prize
2025 by the Bill & Melinda Gates Foundation?

(A) Dr. Rajesh Ghosh (B) Prof. Urbasi Sinha

(C) Dr. Anjali Sharma (D) Prof. Suresh Menon

Corundum is a mineral of:
(A) Calcium (B) Gold (C) Iron (D) Aluminium
Who has inaugurated India’s first-of-its-kind CSIR Mega "In-
novation Complex" in Mumbai on January 17, 20257

(A) Narendra Modi (B) Amit Shah

(C) Dr. Jitendra Singh (D) Ashwini Vaishnav

Consider the following statements:
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1. The hot air in Libya is called seitan.

2. The air that runs during summer in Australia is called
Brick fielder.

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

The strength of a force is usually expressed by its-
(A) Acceleration (B) Direction
(C) Interaction (D) Magnitude

What is capital of Mauritania?
(A) Yaren
(C) Nouakchott

(B) Kirbeeti
(D) Mogadishu

Demand for a commodity refers to

(A) The desire for that commodity

(B) Need for that commodity

(C) Quantity demand of that commaodity

(D) Quantity demanded at a certain price during any
particular period of time

The rate of diffusion of hydrogen is about
(A) One half that of helium

(B) 1.4 times that of helium

(C) Twice that of helium

(D) Four times that of helium

Which of the following is matched correctly?

List | - List Il

1. Vitamin-C - Scurvy

2. Vitamin-D - Rickets

3. Vitamin-E - Night blindness
(A)1and2 (B)2and3 (C)1and3 (D)1,2and3

Who is representing India at the World Economic Forum
(WEF) 2025 in Davos?
(A) Narendra Modi

(C) Dr. Jitendra Singh

(B) Dr. S. Jaishankar
(D) Ashwini Vaishnaw

Transfer of heat energy from the sun to the moon takes
place by

(A) Radiation only

(B) Radiation and conduction

(C) Radiation and convection

(D) Radiation, conduction, and convection

The force of gravitation between two bodies does not
depend on

(A) Their separation

(B) The product of their masses

(C) The sum of their masses

(D) The gravitational constant

What is the newly renamed name of the iconic Cultural Cen-
ter in Jaffna, Sri Lanka, which was built with Indian assis-
tance?

(A) Thiruvalluvar Cultural Center

(B) Jaffna Cultural Hub

(C) Tamil Heritage Center

(D) Tamil Philosophers' Cultural Center

In which of the following Ocean lies the Sunda Trench?
(A) Indian Ocean (B) Pacific Ocean
(C) Atlantic Ocean (D) Arctic Ocean

In which five year plan Rourkela & Durgapur Steel plants
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were conceived?

(A) First (B) Second (C) Third (D) Fourth
How much of longitude account for one hour?

(A) 10 degree (B) 15 degree (C) 20 degree (D) 25 degree

What is name of the river formed by the confluence of
Chandra and Bhagha rivers?
(A) Ganga (B) Yamuna (C)Chenab (D) Jhelum
In which year, Arunachal Pradesh became a full-fledged

state of India?

(A) 1985 (B) 1986 (C) 1987 (D) 1988
Which among the following is a greenhouse gas?

I. Methane Il. Carbon dioxide lll. Nitrogen dioxide
(A) land Il (B) I and Il

(C) lland IlI (D) All options are correct.

When a ball is thrown vertically upwards, which of the
following quantities remains constant during its motion?
(A) Energy (B) Displacement\

(C) Velocity (D) Acceleration

Which system is used by the Digital Computers to encode
data and Programs?
(A) Decimal

(C) Hexa decimal

(B) Binary
(D) Octal

'Queensbury rules' is code of rules that directly influences
which of the following sport?
(A) Cricket  (B) Football ~ (C) Boxing (D) Hockey
Which one of the following
electromagnetic waves?

(A) Electromagnetic waves do not show interference and
diffraction.

(B) Oscillating electric field and magnetic field are
perpendicular

to each other.

(C) Electromagnetic waves are transverse waves

(D) Electromagnetic waves do not require a medium to
propagate.

is not a property of

During motion of an object along a straight line,
the change in velocity of the object for any time interval is
zero.

(A) Linear (B) Translational
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Those chemical substances which have a bitter taste are:
(A) Acid (B) Bases
(C) Salt (D) None of the above

Name the first enzyme that mix with food in the digestive
tract?

(A) Pepsin
(C) Amylase

(B) Trypsin
(D) None of the above

An electron possesses a negative charge of-
(A) 16 x 10'° C (B) 1.6 x 10"° C
(C)2.6x10"°C (D) 1.8 x10"° C

The process by which a liquid substance change into gas
rapidly on heating is called:
(A) Vaporisation

(C) Freezing

(B) Boiling
(D) Condensation

Why are impurities added to a semiconductor?
(A) To increase its life

(B) To enable it to withstand higher voltages
(C) To increase its electrical conductivity

(D) To increase its electrical resistivity

Which of the following in biology is the energy currency of
cells?
(A) PDP (B) DTP (C) ATP (D) ADP
Which of the following is a conductor of electricity?
(A) Silver (B) Copper

(C) Aluminium (D) All of the above

Direction (46—48): Following data are of the total manpower in the

production unit

Years Production sub units
Press-L Press-H Fabrication | Robotics Advanced
1999 150 79 50 45 79
2000 225 120 45 62 70
2001 450 195 30 90 65
2002 480 219 32 105 72
2003 500 240 35 132 69
2004 510 225 36 130 80
Q.46 What is the average number of people working in the

Press-L from the year 1999 to 2004?

(A)385.83 (B)358.84  (C)401.56 (D) 359

(C) Equilibrium (D) Uniform Q.47 The number of persons working in the advanced unit is how
) much percentage more than that of number of persons work-
Q.36 Who was discovered heavy water? ing in the fabrication unit?
(A) H.(C) Urey and E.W. Washburn (A)83.97  (B)89.03 (C)86.41  (D)855
(B) Priestly & Davy
(C) Henry Cavendish & Boyle Q.48 The number of persons working in the unit in year 2001 was
(D) All of the above how much more than its previous year?
(A) 408 (B) 308 (C) 388 (D) 418
Q.37 The male sex accessory ducts include vasa efferentia,
epididymis, vas deferens and . Q.49 Find the value
(A) Cervix (B) Rete Testis 4 1 2 _
(C) Glands (D) Seminiferous Tubules 443 7t 939 7t 993 7 =7
(A) 2997 (B) 2998 (C) 3000 (D) 1000
Q.38 The process by which solid substance changes into liquid is L L
called: Q.50 Ifa+-=4then a*+ ==
(A) BO'“_“Q (B) Diffusion ) (A) 287 (B) 198 (C) 291 (D) 194
(C) Melting (D) Condensation
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If 578 and 245 are multiplied, from the product we get, a new
number is formed using the unit digit and the tenth digit, then
what is that number?
(A) 10 (B) 20 (C) 30 (D) 40
85.71%o0f 140% P? = 1080. Then p will be equal to
(A) 30 (B) £30 (C) £36 (D) £12

V{54 + (45 + 92) — 29} + 2 = /x then x will be equal to
(A)6561  (B) 81 (€)9 (D) 45

Find the average of the following numbers 2095, 2089, 2091,
2077, 2073 and 20977?
(A) 2086 (B) 2087 (C) 2089 (D) 2085

The HCF and LCM of two numbers are 3780 and 113400, if
one of the numbers is 7560, then find the other number?

(A) 56700  (B) 57600 (C) 69600 (D) 34500

In finding the HCF of two numbers by division method the
two quotients are 10 and 2 and the final divisor is 990. Then
find the numbers?
(A) 1890, 900

(C) 1980, 20790

(B) 990, 4500
(D) 1980, 36000

A sum of money worth 201700 is divided into two parts one
is invested at 12% and another is invested at 17% p.a. The
total simple interest obtained at the end of the year is Rs
30255. Then find the money invested at 17%?

(A) 134020 (B) 143030 (C) 147080 (D) 121020

A boy has some candies and he gave away 60% of them to
one of his friends. He then gave 89% of the remaining and 2
more to another friend. From the remaining he again gave
away yet another 60%.Now he is left with only 8 candies.
Calculate how many candies he has got at the beginning?
(A) 500 (B) 400 (C) 300 (D) 350

In a cuboid, the length increases by 5%, the breadth
increases by 10% and the height increases by 2%. Then
calculate the percentage increase in volume?

(A) 17.81% (B) 10% (C) 12.43% (D) 43.21%

A farmer decides to divide his farmland among his son in the
ratioof 1: 3 : 5 : 7. His produce is directly proportional to his
area’s square. He finds that if he divides this among his 4
sons then there will be a loss of Rs 6020 than had he done
himself without dividing. Then find the amount he will earn if
he does himself?

(A) 8960 (B) 7745 (C) 8954 (D) 5674

A alloy A contains cooper and zinc in the ratio of 7 : 4 and
another alloy B contains cooper and zinc in the ratio 3 : 5.
The two alloys must be mixed in what ratio such that they
contain equal amount of cooper and zinc?
(A) 12:11 (B) 11:21 (C) 11:12 (D) 13:14

A person sells two cows at 2100 each on one cow he incurs
he a loss of 14.28% and on another he gains a 20%. Then
find the gain or loss % on the whole transaction?

(A) 5.72% Gain (B) 10.52% Gain

(C) 8.83 % Loss (D) No Loss, No gain

The profit obtained by selling of 13 books is equal to the cost
price of 3 books. What is the profit%?(approx.)
(A) 23% (B) 16% (C) 15% (D) 25%
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A and B can finish a job in 7 and 16 days respectively. If
starting with A they start to work in alternate days, then in
how many days will the work get finished?
4 3 2
(A) 9> (B)7 (C) gc (D) 54/7
A man completes the work in 10 days and the women can
complete the work in 20 days. In how many days the man
with 60% efficiency and women with 50% efficiency working
together can complete the work?
(A) 520/17  (B) 300/17 (C) 200/17 (D) 100/13
A boat goes 48km upstream and comes back to the starting
point in just 9 hrs. If the speed of the current is 4kmph then
what is the speed of the boat in still water?
(A) 12 km/hr (B) 18 km/hr  (C) 8 km/hr (D) 10 km/hr
Two trains can cross a pole in 12sec and 18 sec
respectively. If the speeds of these trains are in the ratio of
7:11 then in how much time would the faster train overtake
the slower train?
(A) 70.5sec (B) 75 sec (C) 67.5 sec (D) 68 sec
Find the difference between simple interest and compound
interest generated on a sum of Rs 64000 over a time of 3
years at a tare percent of 32.5% p.a.
(A) 22477  (B) 24477 (C) 27477 (D) None of these
Find the time period required for a principle P to generate a
interest which is 1/42 times of itself in a rate of 25/7% p. a
simple interest?
(A) 8 year (B) 8 months  (C) 1 year (D) 2 year
Three friends A, B, C invested in scheme such that fives
times A’s investment is equal to 2 times investment of B and
is also equal to 7 times the investment of C. Find their profit
ratio if A B C invested for Syear,2 year, 7 years?
(A)25:4:49(B)49:4:25 (C)1:1:1 (D) 5:2:7

General Intelligence and Reasoning

6y ‘. ’

If ‘" means ‘+’, ‘-’ means ‘+’, ‘x’ means ‘-’ and ‘+’ means ‘x’.
Then find the value of-
416x9+35-5+31 =?
(A) 388 (B) 384 (C) 382 (D) 348

In a certain code language ‘MONARCH is coded as ‘QNIZ-
MFB’, then how will be ‘RITUALS’ coded in that code lan-
guage?

(A) JSZFGRK
(C) KSZFGQK

(B) SKGFZKQ
(D) KSGFZKQ

Find the number of circles in the given figure?

(A) 12 (B) 11 (C) 13 (D) 14

In a certain code language ‘ROYAL' is coded as ‘@ $ * #%’
and ‘HOME' is coded as ‘©$&>'. How can ‘ROME’ be coded
in that code language?
(A) &?%@ (B) @?%& (C) @%&> (D) #&@$

What should come in place of question mark?
Question figure-
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R is S’s mother. Q is father of R. S has one son and one
daughter. M is son of R. How M related to Y?

(A) Father (B) Son

(C) Data inadequate (D) Uncle

Direction Q.(77-78) In each of the questions below are given a

Q.77

Q.78

Q.79

Q.80

Q.81

statement followed by two assumptions. You have to take
the given statements to be true even if they seem to be at
variance with commonly known facts. Read all the
assumptions and then decide which of the given
assumptions logically follows from the given statements,
disregarding commonly known facts. Give answer-

(A) If assumption | follows.

(B) If assumption Il follows.

(C) If either assumption | or 1l follows.

(D) If both assumption | and Il follows.

Statement: In the recent Lok Sabha elections 2019, Bhartiya
Janta Party again got majority votes.

Assumptions: (I) It may be possible that public again give the
vote because of the work done by the Bhartiya Janta Party.

(II) Many useful schemes may be started by the Prime minister
for the public.

Statement: During the recent elections, many news regarding
violence are seen in West Bengal.

Assumptions: (I) It may be possible that some political par-
ties want to hinder the election by provoking violence.

(II) It may be possible that some Chaotic elements want to
hinder violence in the state.

Arrange the given words in the sequence in which they occur
in the dictionary?

1. Mango 2. Meter 3. Mohan
4. Mental 5. Marry
(A) 23514  (B) 31524 (C) 51324 (D) 15342

Which word will appear fourth from last when given word
arranged in order of dictionary?

Lavish, Lonely, Looks, Like, Loud, Loom, Laptop, Last
(A) Loom (B) Lonely (C) Looks (D) Loud

In the following question, select the odd number pair from
the given alternatives?
(A) 6—-9 (B) 8—8

(C)7—10 (D) 117

Direction Q.(82-84) Find the odd one?

Q.82

©® BALAJI COLONY TIRUPATI CELL 9391794863

(A) International Joke day

(B) International justice day

(C) World blood donor day

(D) World sports journalists day
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Q.83 (A)48—-32 (B)63—-17 (C)98—72 (D) 49—-36
Q.84 (A)KP (B) IS (C)JQ (D) MN
Q.85 In a certain code language ‘go to home’ is coded as ‘vs dp

my’ and ‘reached to home’ is coded as ‘vs qw dp’. How ‘to’

coded in that code language?

(A) vs (B) dp

(C) qw (D) Cannot be determined
Q.86 What should come in place of question mark?

(A) 10 (B) 8 (C) 11 (D)9
Q.87 Find the analogous pair-

Coal miners day: 8" June :: National Cancer survivors day :?

(A) 4t July  (B) 14" April  (C) 4™ June (D) 24" May
Direction Q.(88-89) What should come in the place of question
mark?
Q88 L M P Q T u ?
(A) X (B)V (C)w (D)Y
Q89 22 11 11 165 33 ?
(A) 66.5 (B) 80.5 (C) 825 (D) 85.2
Q.90 Letters of a word have been jumbled up and numbered as
given. Select the option that gives the correct order of the
letters as indicated by the numbers to form the word.
R,M,B,E,N,U
123 456
(A) 3,5,4,1,6,2 (B) 5,4,3,1,2,6
(C)5,3,14,6,2 (D) 5,6,2,3,4,1
Q.91 Find the mirror image of the following question figure?
Question figure-
(i
Al |
Answer figures-
[/
mil us
(A) (B)
1) :
LI :
(C) (D)
Q.92 Identify the answer figure from which the piece given in the

question figure have been cut.
Question figures-

~\

\

1
PR )
- s

Answer figures-
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Direction Q.(96-97) In these questions, relationships between dif-
o ferent elements are shown in the statements. These state-
o ments are followed by two conclusions. Give answer-
(A) (B) (A) If conclusion | follows.
(B) If conclusion Il follows.
o ©° (C) If either conclusion | or Il follows.
o o (D) If neither conclusion | nor Il follows.
(€) (D)
Q.96 Statements: 3<8=7<2<4>0
Q.93 Which Venn diagram shows Sea, River and Water? Conclusions: (I) 2>3 (I 8<4
Q.97 Statements: 1<$>4=P<0>3
Conclusions: (I) $>P 1) $=P
A) (B) O U} (1
Direction Q.(98-100) Mohit starts walking from point A to north
direction. After walking 18 km. he reached to point X then he

turns to his 90° left and walk 22 km and reached to point D.
Now he moves 450° to his left and walk 8 km., then reached

to point F.
Q.94 If in blocks number 10 is on base, then which number is on o poin
top? Q.98 Point D is in which direction from point A?
10 12 % (A) North (B) North-east
= || 6 (C) South (D) North-west
(A)8 (B) 12 (C)6 (D) 4 Q.99 Point A is in which direction from point F?
. . (A) South-east (B) South
Q.95 If day before yesterday was Saturday then which day will be (C) South-west (D) North
held Day after tomorrow?
(A) Friday (B) Thursday Q.100 What is the approximate shortest distance between from
(C) Wednesday (D) Tuesday point F to point X?
(A) 23km.  (B) 24km. (C)22km. (D) 25 km.
Space for rough work
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